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Part A, Multiple Choice (20%)

1. Suppose the current equilibrium price for pizza is $250, If the federal government decides the price of pizza
should be set or frozen at $200. the result of this policy would be :
. ashortage, where at the freeze price ($200) the quantity demanded would exceed the quantity supplied.
. A surplus, where at the freeze price ($200) the quantity demanded would be less than the quantity
supplied.
. The the market would remain in equilibrium but with a larger quantity bought an sold at $250.
. At the freeze price ($200) the quantity sold would be greater than the quantity bought.
. At the equilibrium price of $250, more units would be sold.
2. W]nch of the following statements is correct concerning a profit maximizing firm with monopoly power ?
A. It can always increase profits by raising the price of its product.
B. It will never charge a price at which the price elasticity of demand is less than 1 in absolute value.
C. It will never charge a price at which the price elasticity of demand is greater than 1 in absolute value.
D. It will charge a price that is equal to its marginal cost.
E. It will charge a price that is less than marginal cost.
3. The acceleration principle implies that to maintain present investment levels:
. output must continue to increase or decrease at its present rate.
. output must grow at an accelerated pace.
. output must grow at an ever slowing pace.
. Investment must be at a zero level already.
. None of the above.
4. 'I'he effects of a drop in world oil price on the economy of an oil import country are most likely to be
A. increase in aggregate output and general price level.
B. decrease in aggregate output and general price level.
C. increase in aggregate output but decrease in general price level.
D. decrease in aggregate output but increase in general price level.
5. Cream is complementary to coffee, and tea is a substitute for coffee. After an excise tax on the sale of
coffee is imposed, which of the following will result?
A. The price of both cream and tea will rise.
B. The price of cream will rise, and the price of tea will fall.
C. The prices of both cream and tea will stay the same.
D. The price of cream will fall, and the price of tea will rise.
E. The prices of both cream and tea will fall.
6. Which of the following statements is FALSE?
A. the natural rate of unemployment can be reduced by policies designed to affect the composition of the labor force.
B. the availability of unemployment benefits reduces the natural rate of unemployment.
C. high rates of unemployment often have a way of perpetuating themselves.
D. the unemployment rate among white males 20 years and older is lower than the overall unemployment rate.
E. even when the economy is at the full-employment level of output, some frictional unemployment still exists.
7. The neoclassical growth model predicts absolute convergence for countries with the
A. same technology, savings rate, and population growth.
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B. same technology and population growth, but different savings rates.
C. same technology and savings rate, but different rates of population growth.
D. same population growth and savings rate, but different levels of technology.
E. same population growth, but different levels of technology or savings rates.
8. Ifa central bank is uncertain about whether an economic disturbance is temporary or permanent, it should
. always wait until the full effect of the disturbance is felt before undertaking any policy changes.
make frequent and modest policy changes and adjust policies whenever necessary to reach a sustainable
goal.
. announce and then implement major policy changes right away to signal to financial markets that it will
address the disturbance vigorously.
. announce a pulicy change and then wait for financial markets to react, which is often all that is needed
to calm economic activity.
do all of the above
9. The term "quantitative easing" refers to a policy by the Fed to
A. "peg" the interest rate at a pre-determined level through the use of open market operation.
B. massively sell short-term assets in order to quickly change short-term interest rates.
C. massively buy long-term assets in order to directly lower long-term interest rates.
D. directly appeal to banks to ease credit in order to stimulate investment spending.
E. none of the above.
10. If a consumer is always md]fferent between an additional one g;rapefrml or an additional two oranges, then
when roanges are on the horizontal axis the indifference curves :

A. will be right angles whose corners occurs on a ray from the origin with slope of +2.
B. will be right angles whose corners occur on a ray from the origin with slope of +1/2.
C. will be straight lines with a slope of -1.

D. will be straight lines with a slope of —1/2.

E. None of the above.
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. (30%) Comment on the following statement in economic perspective:
(1) “If a central bank decides to accommodate an adverse supply shock, it will intensify the inflationary
effects.” Comment on this statement with the help of an AD-AS diagram. (15%)
(2) “Either expansionary fiscal policy or a currency depreciation will increase domestic national income
by decreasing the level of foreign output demanded.” Comment on this statement.” (15%)
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